¥ B % S -
TR 31 4FRE KE - H 5
I I ¥ (Fi )
A X & WHMH  CEEHX E2 148K
(% £ it 4 TR AR A
oA 8 M KD HMNS Rk 3247 3H13H PR Y
i R IR E ML | HF B4 Bl | M B

W HETHTEFAKER




Es 0 % G % £

R sk i
L 2
T KA ZE S T 7K A T R A
TEZERT IR 818.2 km 818.2  knm
B T AR 818.2 km
e R E 2,199 J&
0 R A 55,554 7
Frie R A 818.2 km
S T R A 409 km
TR A 163 km

AT B KE R




¥ B Zx & B W iR F

7 H T fii T 1] A k& HE K B E filli & # 15

[EREE 273 29 1
[ERESES 29 1
[ERESES Rhin X i 29 1

ES YN E20 1
AR 29 1

S Qi X 29 1

ES- N E20 1
S fiffi B E20 1

UHTHHETFKER




H # % B & W

E H T il i ] MoEL OBk HifT [ il EN i fii
. Y10000//1
VEZERT il
e F1HEE, A10000//1
VTEEFBiERK =
. Y10000//2
B anA
. F2-F A Z, A10000//2
Bl T AAA =
. . H3 A, A10000//3
St RS KGR E =
. FAFIHMZE, A10000//4
R AR A =
. HE5AZ, A10000//5
IR TR A t
= 55675 W, A10000//6
T TR A St
; = BT WM, A10000/ /7
TRK A A =
Y10000//3
W R
55875 W, A10000//8
R =
EREL

TWATMH ETFKER




FiRl

R
E2 g i i ER B = HL i & g%ﬁ 1
BEAHIWEE R Bk
VEFEFmER km 818.2
& &t = 1

WAMH ETFKER




FiRl

BT REAE 1250 0 BEE ik -
R
E2 g i i EHN B = HL i & gé-gﬁ 1
BEAHIWEE R ForFk
Bl T AL km 818. 2
& E = 1

WAMH ETFKER




S ~ = S 4 FER . KRS ENE
53 BT BRI 120 0 IR i )
% :
4 PR H #% EA[T = B i & B il
M kA H EREEE
RAKE R E T - KEERAE H 2,199
= E = 1

WAMH ETFKER




FiRl

AR )EIDJIJ%H:@EEE 1£Eﬂ:_/l @ Eﬁ;ﬂﬂ% AR
i -
E2 R i i 2 B & HL i & %\ i
TR
RIS T A = 55, 554
& 7 = 1

WAMH ETFKER




= . FiR -
P Frre EHEF A 1204 V) B oA
i -
E2 g i i ER B = HL #A 1
H5irER
I B T A km 818.2
& 7 = 1

WAMH ETFKER




FiR -

6B Ft%ﬁ%ﬂ:%ﬁ\%}ﬁﬁ 1£Eﬂ:!| @ ED%T%EH%% AR
i -
E2 g i i ER B = HL i & %\ 1
H6r#R
8 T R A km 409
& i =X 1

WAMH ETFKER




FiR -

T 5 ?ﬁ7kﬁﬁ%ﬁ\§}%]ﬁ 1£Eﬂ:!| @ ED%T%EH%% AR
i -
4 ji i &% Hir B B Hi g%ﬁ 1
WTE#R
TR/ R AR A km 163
& 7t = 1

WAMH ETFKER




Ak 130 0 BAANEE

FiR -

o Tt
i -
E2 g i i EHN B = i & #A i
e
W EERK km 818. 2
& 7 = 1

WAMH ETFKER




CHEES TESERTEIERL 20k m ™ V) Hiffisk T MR

%« KiEMR AR - &K #-3.833.84

E2 PR Bl i WAL B B H i & (R fif =
kRl A
AT A
= G k m 20
HOAL Y b k m 1

WAMH ETFKER



MR ERIERE LA

E 5 NN/
o % BT RFE 30k mY4 Y HALZE Wik -
% . KM EERA - B #£-3.83~3.88
4 R i i 23 B & H il & B HE 1 £
AT A
F 25 BT
HEL SR H 1 KB EFEAE - K Pl
B2 HLATR
HE SRR H 1 AGE R R - E K P9l
1500 ¢c ¢
BE Z4 MR H 1 h 30/ B B S FE L2
1500 ¢ ¢
BEE Z4 FUEE MR 5 h 304 R SR R R
ANAN V" 27-8047 4/ m LA E Uy b
FEHEE %
& i k m 30
HAL Y Y km 1

WAMH ETFKER




N S S 2 Ny FER - ke H
a3 TR/KEERIE 4052 ) HAhZE Ak BT - KRR
%« KiEMEHETRE - WK #£-3.83~3.88
% i A i3 ERTE- EH il & A e b 4
wIE
AT A
P AL
R BRI ERE 2 ke H 1 AGERRRFEREA - i PIl
1500 ¢ ¢
HBE T4 bR H 1 h 30%E B M R 3
1500 ¢c ¢
BE T4 FEE My [ 1 h 30 ER B AR R F 2R
AN V¥ 25-8047 /L. Uy kb
FEMEEY %
&) B 7 40
B ALY H .

WAMH ETFKER




R B A

FiRl -

%4%2% 380)5% D E‘,ﬁﬂiﬁ ﬂéifj(
%« KB EERA - B #£-3.83~3.88
4 R #H i 23 B & H il & B M 1 £
A F A
F 25 BT
R EHEE L=1m H 2 KB MR TRERER - B PIL
1500 ¢ ¢
BEE F4 FUEE H 1 h 308 R SR L R
1500 ¢c ¢
BE T4 R My fi] 1 h 30 ER B AR R F 2R
AN V" 27-8047 4/l LA Vv b
FEHEE %
o 2 = 380
H A4 = 1

WAMH ETFKER




FiRl

AN /\ir‘ § NN /2
T Frfe EHEAH A 19km b HiffiZR A
%« KiEMEHETRHE - &K #£-3.83~3.88
4 PR #Hl % EA = H il & B HE fi S
AT A
F 25 BT
R FhE L=1m H 2 KBRS - B P91
FEHEE %
= B km 19
HAL Y Y km 1

WAMH ETFKER



FiRl

i = NN 2
e % PR TH SR 7km X4 V) HAL SR Wik -
%« KiEMEHETRHE - &K #£-3.83~3.88
E2 g i i ER B = H il & % e 1 3
wIE
FAEBL T A
F o LA
R TRk HhE H 2 AGERRRFEREA - i PIl
1500 ¢ ¢
HBE T4 bR H 1 h 30RE MR SR B
1500 ¢c ¢
BE T4 FEE iy fi] 1 h 30 ER B AR R F 2R
AN V¥ 25-8047 /L. Vv b
FEHEE %
& 7 km 7
B ALY D km 1

WAMH ETFKER




FiRl -

wTER IR7K R 7.6km34 V) Bifh% Ak -
% AKEMRZETERA - B #-3.83~3.88
E2 P B F& HAL W & B i & #H HE 1 B
A F A
B 25 BLAfG
R AHBARR A PR AL H 0.1 KB AR ZRERRA - B P91
JEHhFE EEAAR R LANANEAN: L ) H
BE N~ KU o 14 H 0.9 h 307 ZL R bk R Bl 5
B i A
BEE A=V T N— L=1m A 0.9 KEMIRRE R - FH P91
B2 BLAfG
R HEEE L=1m H 0.9 KB R ZRERRA - B P91
1500 c ¢
R T4 R E 1 h 304 R Mt SRR
1500 ¢ ¢
BE T4 R My fi] 1 h 30 ER B AR S R F 2R
AN Vi 278047 F /A LA L Uy v
AR MR %
& 7 km 7.6
H AL 4D km 1

WAMH ETFKER




CREES W EVER 10kmY4 V) B Tk

%« KiEMRETHER - &K #£-3.833.84

A PE Bl T WAL B & H i & WM 1 =
ATl A
LESEURS N
= G km 10
C R km 1

WAMH ETFKER



